LATIN VERSE
English verse depends for its rhythmical effect on the pattern of stressed and unstressed syllables and a similar system was probably used in Latin in very early times, and certainly became usual in the Middle Ages. In the Classical period, however, under the influence of Greek, Latin poetry was based on the variation of short and long syllables. The most important of the patterns followed (and the only one tested in the SAT and IGCSE examinations) is the hexameter (`measure of six’), used for narrative poetry including Virgil’s Aeneid and Ovid’s Metamorphoses. In this metre, a line consisted of six `feet’ (rather like bars in music), in each of which an initial long syllable was followed either by another long or by two shorts. The long-long combination was termed a spondee and the long-short-short a dactyl. The fifth foot in a line was almost always a dactyl and the sixth always a spondee, although the final syllable could be short, since the pause at the end of the line was felt to lengthen it. If we mark long syllables with a macron (-) and short ones with a crescent (˘), the full pattern is thus:
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A `long syllable’ is not, of course, the same thing as a `long vowel’. 
We have already seen when looking at the ordinary rules for placement of stress in Latin that:

· A syllable is long EITHER because it contains a long vowel OR because its vowel is followed by two consonants as the first of the two would be pronounced together with the vowel in front.  
· An `x’ was counted as a double consonant (because it was really a combination of `c’ and `s’) 
· Two consonants with `l’ or `r’ as the second one did not lengthen a syllable because the two consonants were considered as forming a single sound which was pronounced together with the following vowel, not the one in front. 
· `qu’ counted as a single consonant, as did any consonant plus `h’
· An `i' between two vowels was normally pronounced as a double consonant (`yy’), so, for example the first vowelss in maior and Troia are short, although many books show them as long, but the first syllables are both long. 
These rules generally applied in poetry also and operated across word boundaries, not just within individual words, but there was, naturally enough, some `poetic licence’:

· the poets were allowed to count a combination like `pl’ or `tr’ as either a single or a double     sound, whichever was more metrically convenient.  
      -   an `i'  or `u’ before another 
vowel could be counted as either a consonant or a vowel. So, 

for example, the name `Ascanius’ could be pronounced either `As – ca- ni – us’ or 

          `As - can –yus’



 
· in some cases, vowel length could be arbitrarily altered, the most celebrated case being the

    word Italia, normally pronounced with four short vowels in a row and so impossible to fit   

    in a hexameter line. The solution was simply to lengthen the first syllable, so that, with the 
last syllable easily elided or lengthened by following consonants, a `long-short-short-long’ 
    pattern was achieved.

-   a final vowel, or vowel + `m’, was elided if the next word began with a vowel, so puella



improba was pronounced puell’improba, a form of contraction that probably also 


occurred in colloquial speech as well. Elision of vowel plus `m’ was presumably possible 

because in word-final position `m’ was not actually pronounced as a consonant but simply 

marked nasalization of the vowel it followed.
Because the two final feet of the hexameter usually follow a fixed pattern, `scansion’ (marking the short and long syllables in verse) means basically working out the structure of the first four feet. You need to first find any elisions and then, with SAT, as the long vowels are already marked for you, it should be easy to decide which pattern is correct by simply remembering that a diphthong is always long and applying the double-consonant rules. As an example, the opening lines of the Aeneid are scanned below, with brackets indicating elided endings. You should try to add the scansion for lines 6 and 7 yourself:
ˉ   ˘  ˘   ˉ   ˘   ˘  ˉ    ˉ   ˉ   ˉ   ˉ  ˘   ˘   ˉ  ˉ      

Arma vi/rumque ca/nō, Troi/ae quī /prīmus ab/ ōrīs

Arms
 man-also
 sing-I    Troy’s   who first   from shores 
ˉ ˘ ˘   ˉ   ˉ  ˉ  ˘  ˘   ˉ   ˉ   ˉ  ˘  ˘   ˉ  ˘
Ītali/am, fā/tō profu/gus, Lā/vīniaque/ vēnit

Italy    by-fate refugee   Lavinian-also came-he
ˉ  ˘ ˘    ˉ        ˉ     ˉ  ˉ   ˉ  ˉ  ˉ  ˘  ˘  ˉ ˉ
lītora/, mult(um) il/l(e) et ter/rīs iac/tātus et/ altō

coasts  much     he  both on-land troubled and at-sea
ˉ        ˘  ˘   ˉ    ˉ  ˉ    ˘  ˘  ˉ    ˉ  ˉ  ˘  ˘      ˉ ˘
vī     supe/rum sae/vae memo/rem Iū/nōnis ob /   īram;

by-force  of-gods   of-cruel  unforgetting Juno’s  because-of anger

ˉ    ˘  ˘         ˉ    ˉ  ˉ   ˉ  ˉ      ˉ    ˉ  ˘  ˘     ˉ  ˘
multa quo/qu(e) et  bel/lō pas/sus, dum/ conderet /  urbem,

much   also    and in-war  suffered  until  found-could-he city



īnferretque 
  deōs Latiō,   genus unde    Latīnum,

carry-could-he-also gods  to-Latium race   from-whom Latin 

Albānīque patrēs, atque altae moenia Rōmae.
Alban-also
 fathers  and  high  walls   Rome’s
  

In the IGCSE exam, the long vowels are not marked so the task of scanning is more difficult. A step-by-step guide is given at the end of this document.

Latin words, when spoken in the ordinary way, had, of course, a stress accent which was similar to that of English, thought the difference between stressed and unstressed syllables was perhaps less strong and, in marked contrast to English, Latin stress was predictable: it fell on the penultimate (second-to-last) syllable if that was long, otherwise on the antepenultimate (third-from-last). In the last two feet of a hexameter line, the intial syllable almost always coincided with the normal position of the stress, producig a regular DUM-di-di, DUM-di pattern to round off the line. In the other four feet, however, natural word stress was often not on the first syllable in a foot and scholars have long argued over whether, when the poetry was read aloud, the natural stresses were retained or whether the stress was transferred to the start of the foot. For example, would Virgil himself have said: 
ARma vi/RUMque CA/nō, TROI/ae quī /PRĪmus ab/ Ōrīs or 
ARma vi/RUMque ca/NŌ, Troi/AE quī / PRĪmus ab/ Ōrīs
Most people now believe that he would have said it the first way, keeping the natural word stresses and that both poet and audience were aware of the constantly changing relationship between stress and metrical pattern. Listen now to a recording of the lines (which you first heard when stating your Latin ourse) by a well-known Ameican classicist, Robert Sonkowski, who reads the verse in this manner:
 https://soundcloud.com/rhapsodoi/aeneid-11-49-perf-by-robert-p-sonkowsky    You can here a similar recording of another passage from Vergil read by Johan Winge, one of the leading experts on Latin metre and pronunciation, at http://www.youtube.com/watch?v=uoD0vjQidrc&feature=related  He uses a metronome and the clip includes subtitles and musical notation to show clearly how either a long or two short syllables constitute one beat.
 
For ordinary readers, however, it is very difficult to `hear’ the hexameter rhythm if it does not coincide with word stress and therefore students are often allowed, or even encouraged, to vocalize lines the `wrong’ way, putting a stress on the initial syllable of each foot. This is what I normally do myself when silently reading Virgil’s poetry and everyone has to decide which method works best for them.
STEPS IN SCANNING A LINE WITHOUT MACRONS
1. Mark (by bracketing) any elisions (i.e. vowels or vowel plus `m’ at the end of a word when the next word begins with a vowel):
et i(am) Argiva phalanx instructis navibus ibat
2. Mark the 5th, 4th, 3rd and 2nd syllables from the end and the division betwee the fith and sixth feet, which are almost always ˉ   ˘  ˘  / ˉ
                     / ˉ ˘ ˘ / ˉ
et i(am) Argiva phalanx instructis navibus ibat
3. Mark all the other syllables which you know are long. These will include:


a) The first syllable


b) Syllables before double consonants (EXCEPT where the second consonant is `r’ or `l’). 

  Remember that x is a double consonant (because it is really c + s ) and that h does not count.
     c) Syllables which you know contain a long vowel. Ideally you should learn the vowel length 

 when you learn a word (this is why all the teaching materials have macrons added!) At the very 
 least you should know the length of the main endings for words – e.g. the i in –is is short if it 
 
 marks a 3rd declension genitive singular but long if it is a 1st/2nd declension dat./abl. plural or   
 3rd decl. accus. plural ending, whilst –a is short as a nom. sing. 1st declension or neuter 

    
 nominative/accusative plural ending but long for the 1st declension ablative singular. A final o is    
 usually long (including the –ō of present tense verbs and 2nd declension dative/ablative singular 
 but not the o of ego). Final i on a verb, noun or adjective is long, 
With the line we are using as an example, even if you have forgotten that the second ī in īnstructīs is long, applying the `two-consonant rule’ lets you fill in most of the remaining syllables:

ˉ     ˉ/      /ˉ  ˉ / ˉ ˉ  / ˉ ˘  ˘/ ˉ
et i(am) Argiva phalanx instructis  navibus ibat
As there are then three syllables left for the second foot, that must be a dactyl. That just leaves the final syllable, to be sure of which you would have to remember that a vowel before a final t is always short:

ˉ     ˉ/ ˉ ˘  ˘ /ˉ  ˉ / ˉ ˉ  / ˉ ˘  ˘/ˉ ˘
et i(am) Argiva phalanx instructis  navibus ibat
THE PENTAMETER

Although tradition from Homer ownard dictated that epic poetry should be written in hexameters, in other types of composition the pentameter (`measure of five’) is frequently paired with a hexameter to produce an `elegiac couplet.’ Ovid makes use of this metrical unit in his Heroides (letters from mythological spouses to their male partners) and Fasti (stories connected with the different months of the Roman year). The pentameter actually consists of six units but two of these are counted as halves of a foot. The line is divded into two halves by the principal caesura (a division coinciding with a break between words), which is marked by two slanting lines. The first two feet may be dactyls or spondees which are followed by one long syllable and second half there are two dactyls followed by a notionally long syllable, which, as in the hexameter, can be a short vowel `long by position’.
ˉ   ˘  ˘  /  ˉ   ˘  ˘ /                            ˉ
                     ˉ //   ˉ  ˘  ˘  /  ˉ   ˘  ˘ /
ˉ   ˉ 
  /  ˉ   ˉ
  /                            ˘

Here is the opening couplet from Penelope’s letter to Ulysses (Heriodes 1 :1-2), with the first line a hexameter and the second a pentameter :

   
ˉ   ˘ ˘  ˉ ˘ ˘  ˉ ˉ ˉ  ˘ ˘ ˉ  ˘ ˘  ˉ ˉ   
Haec tua /Pēnelop/ē len/tō tibi /mittit, U/lixē
These your Penelope  to-slow you sends Ulysses
ˉ  ˘ ˘  ˉ ˉ  ˉ   ˉ ˘ ˘  ˉ ˘  ˘  ˉ   
     nīl mihi /rescrī/bās // attinet:/ ipse ve/nī!
No to-me your-replying-is-use  yourself come
� The recording continues to line 49 and the text is at: � HYPERLINK "https://linguae.weebly.com/aeneid-i.html" �https://linguae.weebly.com/aeneid-i.html�   


The Aeneid tells the story of Aeneas, who was believed to have been the ancestor of the first kings of Rome and also of the Roman Emperor Augustus, for whom Virgil was writing.  According to the story, Aeneas fled from Troy when it was captured by the Greeks and reached Italy, despite attempts by Juno, the queen of the gods, to stop him. 


� Winge’s recitation of Book 1 of Ovid’s Metamorphoses can be heard at � HYPERLINK "http://alatius.com/latin/meta01.html" �http://alatius.com/latin/meta01.html�  
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